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CON ’'Catch This
xin_freq = 5 000 000
clk mode = xtall + plllbx
RA =0
DEC =0
NORTH = %0001
SOUTH = %0010
WEST = %0100
EAST = %1000
NORTH_B = %0001
SOUTH_B = %0010
WEST B = %0109
EAST b = %1000

CON 'Pin Assignments
COMP_N =0
COMP_S =1
COMP_MW =2
COMP.E =3
RATE = 4
AUTO_N = 15
AUTO_S = 16
AUTO_KW = 17
AUTO_E =1
RA_SPEED = 10
RA_DIR = 11
OEC SPEED = 12
DEC_DIR = 13
LED =6
LED 2 =7
LED_3 = 14
LED & = 15
RA_RATE =8, 0
RA_AUTO = RA_RATE
DEC_RATE =8, 0
BEC_RAUTO = DEC_RATE
SLEW 1 =2
SLEW 2 = 4
SLEW_3 =8
SLEW &4 = 16
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